Readers have priority

     int readCount = 0;

     Semaphore mutex = 1;

     Semaphore writeBlock=1;

writer() {

     while (TRUE) {


<other computing>


writeBlock.acquire();


/* critical section*/


     db.access();


writeBlock.release();

     }

}

reader() {

     while (TRUE) {


<other computing>


mutex.acquire();


     readCount+=1;


     if (readCount==1)



writeBlock.acquire();


mutex.release();


db.access();


mutex.acquire();


     readCount-=1;


     if (readCount==0)



writeBlock.release();


mutex.release();

     }

}

Writers have Priority
     int readCount = 0, writeCount = 0;

     Semaphore mutex1=1, mutex2=1;

     Semaphore readBlock=1;

     Semaphore writePending=1, writeBlock=1;

reader() {
     while (TRUE) {


<other computing>


writePending.acquire();


     readBlock.acquire();



mutex1.acquire();



     readCount = readCount+1;



     if (readCount == 1)




writeBlock.acquire();



mutex1.release();


     readBlock.release();


writePending.release();


     db.access();


mutex1.acquire();


     readCount = readCount-1;


     if (readCount==0)



writeBlock.release();


mutex1.release();

     }

}

writer() {

    while (TRUE) {


<other computing>


mutex2.acquire();


     writeCount=writeCount+1;


     if (writeCount==1)



readBlock.acquire();


mutex2.release();


writeBlock.acquire();


     resource.access();


writeBlock.release();


mutex2.acquire();


     writeCount=writeCount-1;


     if (writeCount==0)



readBlock.release();


mutex2.release();

     }

}

Dining Philosophers Problem
while (true) {


// get left chopstick


chopstick[i].acquire();


// get right chopstick


chopstick[(i+1)%5].acquire();


eating();


// return left chopstick


chopstick[i].release();


// return right chopstick


chopstick[(i+1)%5].release();


thinking();

}

